
42

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑚  𝑘  𝑑  

 

 

1

 

𝑑 

 𝐿  𝑚  

60

 𝑔  

 

2

60  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝜃 0  

 𝐿  𝑔 

 𝜇  

 

3

𝜃 

𝐿 

 𝑀  𝜃 

 𝐹  𝐿  𝐿 

 𝑔 

 𝜇  

 

4

𝑀 
 

F 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑀 A  𝑚  𝑀 B 1

A B  𝐿 

A B A B

A B  𝑔 A

B  

 

5

L 

A 

B 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑀  𝐹 

 𝜇  𝑇 

 

 

                                      𝐹 

 

1

𝑀 

45  𝑚  𝑣  

 𝑣  

 

                                       

 

2

𝑣 

45  

𝑣 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑚1 A  𝑚2 B

A  𝑣1 B  𝑣2  𝑒 A

B  

 

                                       

 

3

 𝑣1             𝑣2 

 𝑀 

 ℎ  𝑚 

                                       

 

4

𝑚 

𝑀 

ℎ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝛼  𝑚  

 ℎ  

(1)  

(2)  

 𝑔  

 

1

ℎ 

𝑚 

α 

 𝜃  

 

 𝑔  

 

2

θ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑚  

 𝑔  

(1)  

(2)  

 

 

3

𝑚 



 

 

 

 

 

           

 

 

 

 

 

 

 

           

 

 

 

 

 

 

 

 

 𝐿  𝑚 

 𝜃  

 𝑔  

(1)  

(2)  

 

1

𝜃 

O

 𝑣 

 𝑣  𝑚  𝐿  

 𝑔  

 

2

𝑣 

O 



 

 

 

           

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 𝑅 

A  𝑚 

B OA OB  𝜃0 cos 𝜃0

 

 

3

𝜃0 

𝑅 

B 

O 

A 


